HITACHI

2SD2299

Silicon NPN Triple Diffused
CTV Horizontal Deflection Output

Feature

+ High breakdown voltage
Vepo = 1500V
+ Built-in damper diode type

Absolute Maximum Ratings (Ta = 25°C)

Item

Symbol Rating Unit

Collector to emitter voltage

Emitter to base voltage

VEBO 6 V

Collector current

I 3 A

Collector peak current

iC{peak) 3.5 A

Collector surge current

jC{surge) 10 A

Collector power dissipation

Pt 40 W

Junction temperature

Tj 150 °C

Storage temperature

Tstg -55t0 °C
+150

C to E diode forward current

o 35 A

Note: 1. Value at T = 25°C.

Electrical Characteristics (Ta = 25°C)
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Item Symbol Min Typ Max Unit Test condition

Emitter to base breakdown voltage Vigrjeso 6 — — v lg =300 mA, I =0
Collector cutoff current lces — — 500 pA  Vgp=1500V, Rgg=0
Collector to emitter saturation voltage Vegsay — — 5 \ lc=25A,Ig=08A o
Base to emitter saturation voltage VEE(sat) — 15 V lc=25A1g=08A

C to E diode forward voltage Vece — — 22 vV —an =3A

Fall time

4

— 08 us lgp=275A,lg, =06A,
lgp=—1.3A, Lg=0
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Collector to Emitter Saturation Voltage
vs. Collector Current

Collector current |g (A)
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Collector to Emitter Saturation Voltage
vs. Base Current
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